100 .txt

1,1,2,35,8,13,21......

nai n()

long f1,f2;

int i;

f 1=f 2=1;

for(i=1;i<=20;i++)

{ printf("9%d2ld %2l d", f1,f2);
if(i9®==0) printf("\n");/*
f1=f1+2;/*
f2=f1+2;/*
}
}

you try!

101- 200

*/
*/

*/

2 sort(

)

#i ncl ude "mat h. h"
mai n()

{

int mi,k, h=0,|eap=1;
printf("\n");

f or (n¥101; nx=200; m++)
{ k=sqgrt(ml);
for(i=2;i<=k;i++

i f (N ==0)

{I eap=0; br eak; }
if(leap) {printf("%4d",n); h++
i f (h9a0==0)
printf("\n");

| eap=1;
printf("\nThe total is %", h);
}

153

”

153=1




for 100- 999

100

Ltxt

nai n()

int i,j,kn;

printf(" water flower' nunber is:");
f or (n=100; n<1000; n++)

{

i =n/100; / * */

j =n/ 1094.0; / * */

k=n24do0; / * */

i f (i %100+ *10+k==i *i *i H *j *] +k*k*k)

érintf("%Sd",n);

%)rintf("\n");

90,

90=2*3*3*5

(2) n<k n k k

/* zheng int is divided yi nshu*/

nai n()

int ni;

printf("\npl ease i nput a nunber:\n");
scanf ("o%l", &) ;

printf("%l=",n);

for(i=2;i<=n;i++)

{ .

vhil e(n!'=i)

i f (n% ==0)

{ printf("om*",i);
n=n/i;

el se
br eak;

}
g:)rintf("o/d",n);

-89 B 60 C

>=90

60



C 100

(a>b)?a:b

Ltxt

nai n()

int score;

char grade;

printf("please input a score\n");

scanf ("o%l", &core);

gr ade=scor e>=90?" A score>=60?'B :' C);
printf ("%l bel ongs to %", score, grade);

nai n()

int a b, nuni, nun, t enp;

printf("please i nput two nunbers:\n");
scanf ("%, %", &urd, &un®) ;

if(nuri { tenp=nuni;

nunil=nun®;

nun2=t enp;

}
a=nuni; b=nun®;
vhi | e(b! =0)/* b 0 */

{

t enp=ab;
a=b;

b=t enp;

printf (" gongyueshu: %6\ n", a) ;
print f("gongbei shu: %6\ n", nuni*nun®/ a) ;
}

while , "\n'.

# ncl ude "stdio. h"

nai n()

{char c;

int |etters=0, space=0, di git=0, ot her s=0;
printf("please I nput sone characters\n");
whil e((c=getchar())!='\n")

if(c>= a 8&c<='7'|| c>= A &&c<='Z)



C 100
| etters++
elseif(c= ")
space++;
else if(c>=0 &&c<=9")
digit++
el se
ot her s++;

}
printf("all in all:char=%6 space=%l di git=%4 ot her s=%

din",letters, space, digit,others);

S=ataataaataaaataa. .. a a

2422+22242222+22222( 5 )

Ltxt

nai n()

int a, n, count=1;

long int sn=0, tn=0;
printf("please input a and n\n");
scanf ("%, %", &, &n);
printf("a=%6, n=96\n", a, n);

whi | e( count <=n)

t n=t nt+a;

sn=sn+t n;

a=a*10;

++count ;

printf("ataat...=%d\n", sn);

3. 1000

6=1

nai n()

staticint k 10 ;
int i,j,n,s;
for(j=2;j<1000;j ++)
{

n=1;

s ;
for(i=1;i

i £((j %)==0)
{ n++
S=s-i;

k n =i;

}

}

1 f(s==0)
printf("%l is a wanshu",j);

for(i=0;i printf("o%l, ", Kk);
printf("%\n",k n );



(SN

100
10 10

100

Ltxt

nai n()

{

fl oat sn=100. 0, hn=sn/ 2;
int n

f or (n=2; n<=10; n++)

sn=sn+2*hn;/* n */
hn=hn/2; /* n */

}
printf("the total of road is %\n",sn);
printf("the tenth is % neter\n", hn);

/* */
nai n()

int i,s,n=1;
for(i=1;i<10;i++)

g:( n+l) *2
n=s;

%)rintf(" %l \n",s);

/* */

#define Epsilon 1.0E-6 /* */
#i ncl ude<mat h. h>

nai n()

float a,x0, x1;

printf(" ");
scanf ("%", &) ;

x0=a/ 2;

x1=(x0+a/ x0)/ 2;

whi | e(f abs(x1-x0) >=Epsi | on)

x0=x1,;

x1=(x0+a/ x0)/ 2;

}

printf ("% %.5\n", x1);
}

/* */

#define Bpsilon 1.0E-6 /* */



C 100
#i ncl ude <stdi o. h>
#i ncl ude <nat h. h>
mai n()

float numpre, this;
do

{

scanf ("%", &wun); /* */
}whi | e( nunx0) ;

i1f (nun¥=0)

printf("the root is 0");

el se

{

t hi s=1;

do

{ .

pre=this;

t hi s=(pre+nuni pre)/ 2;

}whi | e(fabs(pre-this)>Epsilon);/* */

printf("the root is %",this);

2% X* X* X- 4* X* X+3* X- 6

/* */

#define Bpsilon 1.0E-6 /* */
#i ncl ude<mat h. h>

nai n()

float x1,x0=1.5;

x1=x0- ( 2*x0* x0* x0- 4* x0* x0+3* x0- 6) / ( 6*x0*x0- 8*x0+3) ;
whi | e(f abs(x1-x0>=Epsi | on)

{

x0=x1,;
x1=x0- ( 2*x0* x0* X0- 4* x0* x0+3* X0- 6) / ( 6*x0*x0- 8*x0+3) ;

}

printf(" %\n", x1);

}

/* */

#define Bpsilon 1.0E5 /* */

#i ncl ude<nat h. h>
mai n()

folat x1,x2,x0,f1,f2,f0;

X0=(x1+x2) / 2;

f 0=2*x0* x0* X0- 4* x0* x0+3* X0- 6; /* */
whi | e(f abs(f 0) >=Epsi | on)

{

i f (f0*f 1<0)

{ x2=x0;

f 2=2% X2* X 2* X 2- 4* X2* X2+3* x2- 6;

}

1 f (f0*f 2<0)

{ x1=x0;

f 1=2*x1*x1*x1- 4*x1*x1+3*x1- 6;

}
X0=(x1+x2) / 2;
f 0=2* x0* x0* x0- 4* x0* x0+3* x0- 6;

%)rintf(" %\n", x0);

*

* Kk
*kkkkk
khkkkkkkk
*kkkkk

* Kk

Ltxt



C 100

Ltxt

for

nai n()

int i,j,k;
for(i=0;i<=3;i++)

for(j=0;j<=2-i;j++)
printf(" ");

for (k=0; k<=2*i ; k++)
printf("*");
printf("\n");
for(i=0;i<=2;i++)
for(j=0;j<=i;j++)
printf(" ");

for (k=0; k<=4- 2*i ; k++)
printf("*");
printf("\n");

}

}

5 12321

29

mai n( )

I ong ge, shi, qi an, wan, x;
scanf ("%d", &);

wan=x/ 10000;

gi an=x%d.0000/ 1000;

shi =x94.00/ 10;

ge=x%0;

if (ge==wan&8shi ==qi an)/* */
printf("this nunber is a huiwen\n");

el se

printf("this nunber is not a huiwen\n");




C 100 .txt

#i ncl ude <stdi o. h>
voi d nai n()

char letter;

printf("please input the first letter of sorreday\n")
vwhile ((letter=getch())!=Y) /* Y

{ switch (letter)

{case 'S :printf("pl ease input second letter\n");
|f((Ietter—getch())--

printf("saturday\n");

elseif ((Ietter—getch())==' u')
printf("sunday\n");

else printf(" data error\n");

br eak;

case 'F :printf("friday\n"); break;

case 'M:pri ntf("rmnday\ n"); break;

case 'T :printf("please i nput second letter\n");
|f((Ietter-getch())-- u')

printf("tuesday\n");

elseif ((letter=getch())=h")
printf("thursday\n");

else printf("data error\n");

br eak;

case ' W: printf ("wednesday\ n"); break;

default: printf("data error\n");

}
}
}
Press any key to change color, do you want to try it. P ease
hurry up!

#i ncl ude <coni o. h>
voi d nai n(voi d)

int color;
for (color = 0; color < 8; col or++)

t ext background(col or); /* */
cprintf("Thls is color %\r\n", color);

cprintf(" ress any key to conti nue\r\n")
getch(); */
}

}

gotoxy() clrscr()

#i ncl ude <coni o. h>
voi d nai n(voi d)

clrser(); /* *

t ext backgr ound( 2) ;

gotoxy(1, 5); /* */
cprintf("Qutput at row5 column 1\n");
t ext backgr ound( 3) ;

got oxy(20, 10);
cprintf("Qutput at row 10 col um 20\n");
}




# ncl ude <stdio. h>
voi d hel | o_worl d(voi d)

{
printf("Hello, world'\n");

voi d three_hel | os(voi d)

int counter;
for (counter = 1; counter <= 3; counter++)
hel o world();/* */

voi d nai n(voi d)

three_hellos();/* */
}

100

Ltxt

#i ncl ude <coni o. h>
voi d nai n(voi d)

int color;
for (color = 1; color < 16; col or++)

textcol or(color);/* */
cprintf("This is color %N\r\n", color);

textcol or (128 + 15);
cprintf("This is blinking\r\n");
}

100

#i ncl ude <stdi o. h>
#i ncl ude "mat h. h"
#define N 101

mai n()

int i,j,line,a N ;
for(i=2;i<Ni++) a=;
for(i=2;i<sgrt(N;i++)
for(j=i+1;j<Nj++)

if(al=0&a | !=0)
if(a j 9%==0)

a j =0}
printf("\n")
for(i=2,1ine=0;i<Ni++)

{

i f(al=0)
{printf("%d", a);
Il ne++; }

i f (11 ne==10)
{printf("\n");

I'1 ne=0; }

}
}

10




C 100

#define N 10

nai n()

{int i,j,mntema N ;

/*input data*/

printf("please input ten num\n");
for(i=0;1<Ni++)

{

printf("a % =",i);
scanf ("%d", &) ; }
printf("\n");
for(i=0;i<Ni++)
printf("9%d", a);
printf("\n");

/*sort ten nunt/
for(i=0;i<N1;i++)
{mn=i;

for(j= +1,j<Nj+¥)
if(a mn >a j ) mng;
t enFa;

a=a mn ;

a mn =tem

}

/*out put data*/
printf("After sorted \n");
for(i=0;i<Ni++)
printf("9%d", a);

}

3*3

Ltxt

for a

nai n()

float a 3 3, sun¥0;

int i,j;

printf("please input rectangl e el ement:\n");
for(i=0;1<3;i++)

for(j=0;j <3;j +)

scanf ("%", & | );

for(i=0;i<3;i++)

SUNMFSUMa;

printf("duijiaoxian he is 9. 2f", sun);

10



nai n()

int a 11 =1,4,6,9, 13, 16, 19, 28, 40, 100} ;
int tenpl,tenp2, nunber,end,i,j;
printf("original array is:\n");
for(i=0;i<10;i++)

printf("9%d", a);

printf("\n");

printf("insert a new nunber:");
scanf (" %", &unber) ;

end=a 9 ;

i f (nunber >end)

a 10 =nunber;

el se

{for(i=0;i<10;i++)

{ if(a>nunber)

{tenpl=g;

a=nunber ;

for(j=i+1;j<11;j ++)

{tenp2=a | ;

a j =tenpl;

t enpl=t enp2;

}
br eak;
}
}

}
for(i=0;i<11;i++)
printf("9d", a);
}

100

Ltxt

#define N5

nai n()

{int a N =96,5,4,1},i,tenp;
printf("\n original array:\n");
for(i=0;i<Ni++)
printf("%d", a);
for(i=0;i<N2;i++)

printf("\n sorted array:\n");
for(i=0;i<Ni++)
printf("%d", a);

}

static

#i ncl ude "stdio. h"
var func()

int var=0;
static int static_var=0;
printf("\40:var equal % \n",var);

printf("\40:static var equal %l \n",static_var);

printf("\n");
var ++;
static_var++



C 100
}
voi d nai n()
{int i;
for(i=0;i<3;i++)
varfunc();

aut o

Ltxt

#i ncl ude "stdio. h"

nai n()

{int i,num

nuN¥E2;

for (i=0;i<3;i++)

{ printf("\40: The numequal %l \n", nun);
num-;

auto int nun¥l;

printf("\40: The internal bl ock numequal % \n", nun);
nuMmH-;

}

}

}

C 100

#i ncl ude "stdio. h"
mai n()

int i,num
nuN¥E2;
for(i=0;i<3;i++)

printf("\40: The numequal %l \n", nun);
nuMmH-;

static int nun¥l;

printf("\40: The internal bl ock numequal %\ n", nun);
nuMH-;

}

}

}

ext er nal

#i ncl ude "stdio. h"
int ab,c;

voi d add()

{int &

a=3;

c=atb;

voi d nai n()

{ a=b=4;

add() ;

printf("The value of ¢ is equal to %\n",c);
}

regi ster

12



C 100 .txt
voi d nai n()

register int i;

int tnp=0;
for(i=1;i<=100;i ++)

t np+=i ;

printf("The sumis %\n",tnp);
}

#def i ne (1)

#i ncl ude "stdio. h"
#define TREE 1
#define FALSE O
#define SQX) (x)*(x)
voi d nai n()

int num

int agai n=1;

printf("\40: Programwill stop if input value | ess than 50.\n");
vhi | e(agai n)

printf("\40l ease i nput nunber==>");

scanf (" ol", &un) ;

printf("\40: The square for this number is %l \n", SQnun));
1 f (nump=50)

agai n=TRE,

el se

agai n=FALSE;

}

}

#def i ne (2

#i ncl ude "stdio. h"

#def i ne exchange( a, b)

{\ /7~ "\
int t;\

t=a;\

a=b; \

b=t;\

E/Oi d nai n(voi d)

int x=10;

int y=20;

printf("x=96; y=%6\n",Xx,vy);
exchange(x, y);

printf("x=96l;, y=%6\n",x,vy);
}

#def i ne (3)

#defi ne LAG >
#defi ne SVA <
#define EQ =
#i ncl ude "stdio. h"
voi d nai n()
{ int i=10;
int j=20;
if(i LAG))
13



C 100

printf("\40: %l larger than %l \n",i,j);

else if(i

EQJ)

printf("\40: %l equal to %l \n",i,j);
elseif(i SVAj)
printf("\40:%l snaller than %l \n",i,j);

el se

printf("\40: No such val ue.\n");
}

#if #ifdef

#i f ndef

Ltxt

#i ncl ude "stdio. h"

#defi ne MAX

#defi ne MM MUM X, y) (X>Y)?2X:y
#define MN MIMX,y) (x>y)?y:X

voi d nai n()

{ int a=10, b=20;

#i fdef MAX

printf("\40:

#el se

printf("\40:

#endi f
#i fndef MN

printf("\40:

#el se

printf("\40:

#endi f
#undef MAX
#i fdef MAX

printf("\40:

#el se

printf("\40:

#endi f
#define MN
#i fndef MN

printf("\40:

#el se

printf("\40:

#endi f
}

#i ncl ude

larger one is %l\n", M\XIMMa, b));
lower one is %\n", MN MMa,b));

lower one is %\n", MNMMa,b));

larger one is %l\n", MXIMMa, b));

larger one is %l\n", M\XIMMa, b));
lower one is %\n", MN MMa, b));

lower one is %\n", MNMMa,b));
larger one is %l\n", MXIMMa, b));

test.h

#defi ne LAG >
#defi ne SVA <
#define EQ =

#i ncl ude "t est

Cht g

50.c test. h*/

#i ncl ude "stdio. h"

voi d nai n()
{ int i=10;
int j=20;

if(i LAG))

printf("\40: %l larger than %l \n",i,j);

else if(i

EQJ)

printf("\40: %l equal to %l \n",i,j);
elseif(i SVAj)
printf("\40:%l snaller than %l \n",i,j);

el se

printf("\40: No such val ue.\n");
}

14



C 100

0&0=0; 0&1-0; 180-0; 1&1-1

Ltxt

#i ncl ude "stdio. h"
mai n()

int a b;

a=077;

b=a&3;

printf("\40: The a & b(decimal) is % \n",b);
b&=7;

printf("\40: The a & b(decimal) is % \n",b);
}

0]0=0; 0]1=1; 1/0=1; 1|1=1

#i ncl ude "stdio. h"
mai n()

int a b;

a=077;

b=a| 3;

printf("\40: The a & b(decimal) is % \n",b);
bl =7;

printf("\40: The a & b(decimal) is % \n",b);
}

0r0=0; 0*1-1; 170=1;, 1*1-0

#i ncl ude "stdio. h"
nai n()

int a b;

a=077;

b=a"3;

printf("\40: The a & b(decimal) is % \n",b);
b"=7,

printf("\40: The a & b(decimal) is % \n",b);
}

(1) a 4
(2) 4 1, 0 ~(~0<<4)
(3) &

15



100

Ltxt

nai n()

unsi gned a, b, c, d;

scanf ("%", &) ;

b=a>>4;

c=~(~0<<4);

d=bé&c;
printf("%\n%\n",a d);
}

~0=1; ~1=0;

#i ncl ude "stdio. h"
nai n()

int a b;

a=234;

b=~g;

printf("\40: The a's 1 conpl enent (decinal) is %l \n",b);

a=—a,

prinff("\40: The a's 1 conpl enent (hexidecinal) is % \n",a);
}

circle
[*circl e*/
# ncl ude "graphi cs. h"
mai n()

int driver, node,i;
float j=1, k=1,

dri ver =VGA node=VGAH ;
i ni tgraph(&driver, &ode, "");
set bkcol or ( YELLOW;
for(i=0;i<=25;i++)

{

set col or (8);

circl e(310, 250, k) ;
k=k+ ;

j9+0.3;

}

}

line

# ncl ude "graphi cs. h"
mai n()

int driver, node,i;
float x0,y0,y1, x1;
float j=12,k;

dri ver =VGA node=VGAH ;

16



C 100
|n|tgraph(8dr|ver &node, ") ;
set bkcol or (
x0=263; y0=263; y1—275 x1=275;
for(i=0;i<=18;1++)

{

set col or (5);

I'i ne(x0, y0, x0, y1);
x0=x0- 5;

y0=y0-5;

X1=x1+5;

y1=y1+5;

] 5 +10;

}
x0=263; y1=275; y0=263;
for(i=0;i<=20;i++)

{
set col or (5);
|'i ne(x0, y0, X0, y1);

Ltxt

X0=x0+5;
y0=y0+5;
yl=y1-5;
}
}
rectangl e
for 100- 999

# ncl ude "graphi cs. h"
nai n()

int x0,y0,y1, x1,driver, node, i ;
dri ver =VGA node=VGAH ;

i ni tgraph(&driver, &ode, "");
set bkcol or ( YELLOY;

x0=263; y0=263; y1=275; x1=275;
for(i=0;i<=18;1++)

setcol or(1);

rect angl e(x0, y0, x1, y1);
X0=x0-5;

y0=y0- 5;

X1=x1+5;

y1=y1+5;

settextstyl e(DEFALLT_FONT,HR Z O R 2);
out t ext xy( 150, 40, " How beautiful it is! ")'
I'i ne(130, 60, 480, 60)

set col or(2);

circl e(269, 269, 137) ;
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